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| 1st Month, 1st Week, 1st Day |Sub domain (i) Exercise 1.1 Q#1,2

Q.1. Choose the correct options. (1x 5=35) -q/.,l:?'!(,,!zuj;
(i) Which of the following fraction are terminating?
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(ii) g Is : e 9
(a)| terminating decimal d/lﬁ‘»"/(ﬁ (b)| non-terminating ,:/WMF;/:;
(c)| recuring decimal o L"'f'/(d'}" (d)| None UL J/

(iii) Which of the following number is irrational number?
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(iv) 7 is a number: -y 47

@| real & |0)] integer & |(©] imtional P |(d)| rational Pt
3
v) 5 isa decimal: :‘4,:«/1:"—"/( 5
(a)| terminating ?:‘; (b) non-terminating ?:‘;/{
(c) recurring Jis (d)| non-recurring d!}'”/f

Q.2. Answer the following questions: - ;..,«b?cﬁc«ﬂlfuf R1O%)
(i) Separate rational and irrational numbers. (0.5x4=2)
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Q.3. Separate terminating and non-terminating decimal. (0.5x6=3)
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| Time: 10 Minutes | Paper Math 8 (T-1) | Total Marks: 10 |
| 1st Month, 1st Week, 1st Day [Sub domain (i) Exercise 1.1 Q#1,2

Q.1. Choose the correct options. (Ix5=15) -/ /..._«l‘s:'ll(.,lﬁw/)
(i) Which of the following fraction are terminating?
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(ii) g Is : e 9
(a)| terminating decimal 1/1:"!1// ?"; (b)| non-terminating :ulf‘»”/( ﬁﬁf
(¢)| recuring decimal ,/lﬁ‘»‘l//d'}'" (d)| None ‘j.?ﬁ:’/

(iii) Which of the following number is irrational number?
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(iv) % isa number: :‘é,ﬁ—vg%
(@) real d.gy (b)| integer f; (c)| irrational Pt # |(d)| rational Fu
v) 5 is a decimal: :‘L:JWV’—%
(a)| terminating ﬁ (b)| non-terminating ﬁ/{
(©) recurring s (d)| non-recurring df }"/f

Q.2. Answer the following questions: - )gl:?c‘:.olllmf“ R1O%)
(i) Separate rational and irrational numbers. (0.5x4=2)
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Q.3. Separate terminating and non-terminating decimal. (0.5x6=3)
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